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2
SECTION A: Language

Answer either Question 1 or Question 2.

Unprepared Translation and Comprehension

1 Read the passage and answer questions 1(a) to 1(g).

© OCR 2015

An earthquake at Sparta causes an uprising of the Helots (Spartan slaves).
The Spartans call in Athenian help, but change their mind, bringing about
tension between the two states.

When the Thasians were defeated in battle and besieged by the Athenians,
they appealed to Sparta to help their cause by invading Attica and
distracting the Athenians. The Spartans agreed to this but an earthquake
occurred and, under cover of the confusion, many of the Helots escaped
and took refuge on Mount lthome.

Aoakedouudvior oDV GAAOLS TE émsKodéoavto ELUUAYOLS  Kal
Abnvaiovs. oi & nABov, Kiuwvos ctpatnyovvios, minbst ovk oAy q.
paliorar 8 adTOVS EMEKAAECONVTO OTL TELYOUAYELV ESOKOLV SLVATOL
givai, t0is 08 mohopkias pakpas kobsornkvias TodToL EvSed!
épaivero.

\ \o 2 ’ -~ ’ ~ ’
Kol Olopopa? €K TQUTNS THS OIPATEIAS TPOTOV AAKEOQAULOVIOS

\ 2 /’ \ 9 /4 e \ / 9 \ \
Kot AOnvaioils ¢avepa eyEVETO. ol yap AdKEOOLOVIOL, ETEION TO
xopilov oDy niloketro, deicavies T@OV AONVaiov TO TOAUNPOV Kal
mv vewmteporouavd, un T, éav mopauévootv, vro tov v 10wun
TEIODEVTES  VEWTEPIOMOL, LOVOLS TOV EVULAYOV  GTEmeupay,
EITOVTES OTL OVSEV TPOGSEOVTAL ATV ETL.

ol & AOnvaioi, Sewvov momoousvort kol ovk aflwoavtes UTO
Aaxedayoviov tobto mabsiy, s0OVS Emeldn ansydpnoayv, aPévies
v yevouévny éml tovs Mndovs Evuuayiov, Apyelols T0ls EKEIVOV
rodeuiots Edupayor Eyévovro. ol & év 10mun Sekar £tel, ms OUKET
gd0vavto avtéysv, Eovéfnoav mpos tods Aaxsdaiioviovs é¢’ @Tsd
éélaoty €k Ielomovvnoov Omoomovdor kKol undémots EmBrocovran
avtns. éEnifov S¢ avTol Kal TalSES Kal YOVOIKES, KOl QUTOLS ol
AOnvaior Selauevor és Nadmaktov Kot@Kioavs. mpooeywpnoav
5¢ kou Meyopeis AOnvaiois és Evupayiov, kod AOnvaior ta pokpo.
telyn pkodouncayv tois Meyapesbotl ta ano tns nolews és Nicaiow
Kol EpUAaccov avTol.

Thucydides 1. 1011f.
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Words

1a évdea need

25 Spopat quarrel

31 vewrepornotio revolutionary tendency
45ervov motéoua | am indignant

549 ot on condition that
Sxaroikilm | settle

Names

ot Apysiot (Argives)

o Kinwv Kiuwvos (Kimon)

1 '10cdun (Ithome)

1 Navraxtos (Naupaktos)

ot Meyapets (the Megarians)

1 Nioaia (Nisaia)

1 Ielonndvnoos (Peloponnese)

(@) puaitiora ... kaBsornkvias (lines 3—4): why did the Spartans need the help of the Athenians in
particular? [4]

(b) Seioavres ... vewtepiowoat (lines 8-10): what does Thucydides tell us in this section about the
attitude of the Spartans to the Athenians? [5]

() movous ... u (lines 10-11): what do the Spartans therefore do, and what reason do they give? [2+2]

(d) Explain the grammar of the following (you may use a translation to explain your answer):
() Kipwvos ompornyodvros (line 2) [1]
(ii) vewrgpiowaor (line 10). [2]
(e) State the tense of the following verbs:
(i) niiokero (line 8) [1]
(ii) mpocdéovrou (line 11). [1]

(f) From what verbs do the following forms come?

(i) émexaréoavro (line 1) [1]
(i) xabeornkvias (line 4). [1]
(g) Translate lines 12-22 (o1 & AOnvaior ... adtol). [30]

©OCR 2015 F374 Jun15 Turn over
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Do not answer Question 2 if you have already answered Question 1.

Prose Composition

2 Translate this passage into Greek prose.

Please write your translation on alternate lines. [50]

You are reminded that marks will be awarded for the style of your translation.

At that time, Dareios was encamped on the plain. Many of his generals
wanted to advance into the mountains and attack Alexander immediately.
But a Macedonian exile, Amyntas, whom Dareios greatly honoured,
thought that this would be very foolish. He told Dareios that Alexander’s
army was very small, and that he would easily defeat it if they fought on
the plain. Dareios said that Alexander would not dare to come down from
the mountains. But Amyntas, who knew the character of Alexander, said to
him, ‘This, your majesty, you need not fear: attack him and he will wait for

you; wait and he will attack you, and faster indeed than you wish.’

Names

Dareios 0 Adpelos -ov

Alexander 0 ALéEavdpos -ov
Macedonian 0 Makedov MoksSovos
Amyntas 0 Aubdvras -ov

© OCR 2015 F374 Jun15
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SECTION B: Prescribed Literature

Answer either Question 3 (Herodotus) or Question 4 (Plato).

3 Read both passages and answer Questions 3(a) and 3(b).

© OCR 2015

tavto. Aéyovros Oguiotokléos admis o Kopivbios Adsiuavros
Enedépeto, oyav te KeAsbwv @ un éon motpls kai EvpvBiadnv
2 9~ 9 ’ 9 / 2 ’ ’ \ \ 14

oUVK eV emyn@ilery oamoil avopl® molv yop TovV OuioTtoklen

/ 9 14 4 4 4 -~ / e
TOPEYOUEVOV EKEAELE OLTW YyvoUas ovufaliecBor. tavta O o1
TPOEPepe, OTL NADKECAY TE Ko KOTELYovTo ol AOnvou. t0te SN O
OcsuiotokAéns kelvov e kol tovs KoptvBiovs moiia te Kod Kaka
b4 e -~ /7 2 4 ’ e 24 \ ’/ \ -~ 14 3/
EAEYE, EOLTOLOL TE EONAOL AOY® S 1N Ko mOMS Kat yn ueCmv 1 mep
EKEIVOLOL, E0T AV SINKOGLAL VEES OGP EDOL TETANPOUEVOL: OVSOLLOVS
yap ‘EAAvov adtovs émovias amokpodoeclal. onuaivov 8¢ tadto.
~ / / 9 2 4 14 -~ 9 14
@0 Aoyw oePorve es Evpvfiodnv, Asyov pallov emsotpoyyievar
XU el pevéels adtod kol pévov Ecsou avip ayabos el 5e un,
K 14 \ ¢ 4 \ ~ \ e -~ -~ 14 14 e
avatpeyels v EAlada: 1o mav yop nULY TOL TOAEUOL PEPOLOL QL
vées. Al guot melbso. gl 8¢ TaDTaL Uun TOUONS, TUELS UEV OS EYOUEV
K / \ 2 14 ’ 9 \ 9 b ’ e/
avalofovies Tovs oiketas kouiebugbo s Xipwv v gv Ialin, n
nEp NUETEPN TE éomi €k maAouol i, kal Ta AOyior AEyel O MUE@V
avtnv Selv kuohnvar Ouels 5 CUUUAY®V TOIOVIE HOLVMOEVTES
LEUVNOECHE TV UV AOY®V.

Herodotus 8. 61-2

(a) How does Herodotus make this passage lively?

Marks are awarded for the quality of written communication in your answer.
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-~ 4 4 — ! 9 ’ \ 2 ’ 9 ’
tabta € aqua Zépéns énoies ki Emeune és Iépoas ayyeléovia
TNV TOPEODOAYV OGPl CUUPOPNV. TOUTWV S8 TOV CAYyEAWV EOTL
oLSev 0 Tt Oacoov mapayivetou Ovnrov £0v: oLtw totot TTéponot
gEelpetou TOLTO. AEYOVDL yap MS OCEMV AV MUEPEDV 1) 1] TAOW
080s, T0G0DTOL (0L TE KO AVIPES SLECTAOL, KOTOL TILEPTGINY 050V
EKOOTNV IMTOS TE KO QVIO TETAYUEVOS' TOUS OUTE VIPETOS, OVK
OuPpos, ob kabue, o0 VOE Epyest pu oL katavdoal TOV TPOKELEVOV
avT® SPOLOV TNV TayloTnV. O LeV 51 IPdTOS JPa®V Tapadidol T
2 ’ ~ ’ e \ 4 -~ 4 \ \ 9 -~
EVTETAMIEVA TQ OEVLTEPM, O O OEVTEPOS TQ TPITQO" TO O EVOELTEV
k4 9 b4 \ b4 /4 / 4
non kar ailov kot aAlov deEEpyeTan TOPASNOOUEVH, KATA TTEP
"EAAnot i Aapmadngopin v 1@ ‘Hpaiote emreAéovot. ToDTO TO
Soaunuo t@v inrwv Kaiéovor Iépoar ayyopniov. 1 LEV 8N mpdTn
£s Xoboa ayyeMn amikouévn, os &xor AOvas Zépéns, Erepye

4 4 /4 \ e 14 e 4 3 \ ’
ovt® o1 1t [lgpoewv TovS LTOAEIPOEVTAS VS TAS TE OS0LS LUPOLVN
naoas £otopeoav kol £Ovuiov Quuuuoata kKol adTtol Noov &v

’ ’ \ 9 ’ e \ 14 K ’ 2 ~
Ovoinot te kot evrabeinor n de devtepn oPr ayysn emeceABovoa
oLVEyee oUTw ote TovS KibdVas katgppnéavto mavies, Bon te
Kal OlU®YT ExpEé®VTo amAétm, Mopdoviov v altin TIOEVTES. 0K
oLt 8¢ mepl TV vedv ayOouevor tadta ol Iépoor émolsvy ws
TEPL aUTO EEPEN SeuaivovTes.

Herodotus 8. 98-9

How does Herodotus maintain the reader’s interest in this passage?

Marks are awarded for the quality of written communication in your answer.
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Do not answer Question 4 if you have already answered Question 3.

4 Read both passages and answer Questions 4(a) and 4(b).

© OCR 2015

o) 4 ’ 1% \ \ > \ \ ’ b
nv ydp mote ypovos Ote Osol uev noav, Ovnra S yévn ovk
nv. érxedn 5¢ kal todrols ypovos NADeV gilapuévos yevécews,
tomoboty avta Ogol yis Evov £k yhs kal mupos UelEavtes Kol
TV 0o TPl Kal Y1) Kepavvotal. Exeldn & aysv avta mpos ¢os
o’ ’ ~ \ o -~ ~ , \
eueAlov, mpooectatav Ilpounbet kou Emunber koounoal te kai
veon dvvausis éxaotols ws npénet. Ipounbéa 5S¢ maparteiton
p \ 5\ ~ « ’ ’ P w7 5y
Emun0eds avtos veat, “Nejpavtos ¢ pov”, épn, “éniokeyar
Kol oUT® TELCOS VEUEL. VEU®V 5 TOIS UEV ICYDV GVEL TAYOLS
TPOGNTTTEV, TOVS & AOOEVESTEPOLS TAYEL EKOTUEL TOVS 08 OnMlE,
~ 24 \ 4 k4 9 2 -~ 9 -~
T01S O QOmAOV O100VS PLOIV CAANV TV’ AVTOIS EUNYOVATO
SOvopv gls cwtnpiov. A HEV Yop aVTOV CUIKOOTNTL TUTICYEV,
TTNVOV QUYNV 1) KATAYEIOV OIKNOWY Eveuev: A 5¢ nOés ueyélet,
TS avT® avTa EcLEV' Kol TAAAQ OUT®S EMAVIGOV EVEUEV.
tabto. 08 éunyovaro sOAdfeiav Exwv un t yévos aictwdein:
9 \ \ 9 -~ K ~ \ 9 4 \ \
EMEON O awTOolS aAAnlodbopiwv dapuyas ennpkece, TPOS TAS
&Kk A0S dpas VLAPEIOY EUNYOVATO GUPLEVVDS QVTOL TUKVOIS
1€ OpIélv Kal oTEPEOlS SEPUOOLY, IKAVOLS LEV QUDVOL YEWDVA,
Suvarotls 8¢ kal koduara, Kol €ls sOVAs 00OV Onms LIAPy oL
TQ aUTO TODTA GTPMUVY] OIKEla TE Kal aDTOPUNS EKOCTE" Kol
OTOSOV Ta PUEV OMANIS, TA 5E SE0LLACLY OTEPEOLS KOl AVAILLOIS.

Plato Protagoras 320c8-321b2

10

20

(a) In what ways is this opening section of Protagoras’ speech striking and interesting?

Marks are awarded for the quality of written communication in your answer.
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OTL LLEV 0DV VT AVIPOL EIKOTMS ATOSEYOVTAL TEPL TOOTNS THS OPETNS
ovuPoviov St 10 Nyetcbar mavtl peTelval avThs, TADTO AEyw: OTL
S¢ adtVv o0 ¢vosl NyobVTa givor oV GO TOL AVTOUATOV, CAAAL
Sidaktov 1€ Ko €€ Emueleias mapaylyveohar @ av mapaylyvnrod,
TODTO GOl pETQ TODTO Tmeipacoual amodsiéal. ooo yap 1nyovvral
9 4 \ 24 ’ N ’ 2 \ ~ 2 \
aAAnAovs koo Exsv avBpwmol guoel 1 TOxN, OLIELS BupovTor oLOE

-~ 9 \ 4 2 \ 4 \ -~ bl4 e’ 4
vovBetel oLOE d1daoKEL 0LOE KOAALEL TOLS TAVLTAL EYOVTAS, VA UM
1010070l WOV, QAL EAovoLv: OloV TOUS aicypoLs 1 GUIKPOVS 1]
aclevels Tis 0UTWS AVONTOS DOTE TL TOVTMV EMYEIPELV TOIELV, TOOTA.
pEV yap oiuau ioacty 0t pUoeL € Kal TOYN To1s Avhpwrols ylyveral,
O KoAQ Kol Tavovtio ToLTolS™ 0oa 08 EE EmUELElOS KU QOKNCEMS
kKol Sidayns olovrar yiyveobar ayabo avBpwmols, éav TS TaDTO
un Exn, alia tavaviia o0tV Kaka, Erl ToUTols mov ol t& Huuol
ylyvovtal Kol ol KOAJGCELS Kol ol VOLOETNOELS. WV E0TIV EV KOl 1]
9 ’ \ ¢ 9 /4 \ 4 ~ \ 9 /’ -~ ~
adIKioe Kal 1) acePeior KAl COAANPONV AV TO EVAVTIOV TNS TOMTIKNS
apetns: EvOo 51 mas mavtl Ouuodrar kal vovletel, ShHAov 0Tt oS EE
emueleias Kou pabnoems Ktntis oLoNs.

Plato Protagoras 323c3-324a3

his argument?

Marks are awarded for the quality of written communication in your answer.

END OF QUESTION PAPER
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(b) What is Protagoras arguing here, and how does the language help to clarify and reinforce
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